Further Factorising

Factorise and simplify the following:

2X+6 3x+15
1. 2X+2 11. 4X+20
3x+15 X> +4x+3
2 %2 +7x+10 1242 18x+7
x> +10x + 24 X2 —X—6
3 %2 1+9x+18 13- %2 _Bx+6
x> +10x + 25 %2 1+ x
4 x%+3x-10 14. 3y2 Ly
x* —2X—63 X2 —x—12
> x?_-5x-36 15 9%? _5x—-12
X% +x—30 Ax% +4x +1
6 x?2 _2x-15 P ox2+3x+1
X% —9x+14 3x*+10x—8
" % _11x+28 17 2%x% + 5x —12
x2 _ A9 2X% +7xy +3y?
8 2x-14 18- 2x% +3xy + y?
X°+X—6 8a? +16ab + 6b?
> 2%+ TX+3 18- 20a? + 22ab + 6b?
X* +9x+20 12a% —22ab + 6b?

10- 9% 1 11x +12 20. 642 —3ab—-9b?



Further Factorising - Answers

Factorise and simplify the following:

X+3 §

1. X+l 11. 4
3 X+3
2 x+2 12. vy 4+ 7
X+4 X+ 2
> x+3 13 x-2
X+5 2X+1
ox=2 14 3x+1
X+ 7 X+3
> X—4 1> 2x+3
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" x—4 17 2x-3
X+7 X +3y

8§ —— 18.
2 X+Yy
X — 2 2a+3b
% Ix+1 % 5a+3b
X+5 6a—2b

10. oy 4 2 2% 3a+3b



